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META A - A FHEE R UVEEER—ER iz <)
i=® T = i B X i I % i £ A &
g4l 34 (34) 42,600 | -0.3 17 (7 96,800 | -0.2 2 (2 24,700 2.2 53 (53) 59,300 | -0.2
WMAT 26 (26) 44, 300 0.3 7 (1) | 129,900 0.2 2 (2 28, 700 1.1 35 (35) 60, 500 0.3
LHTH 13 (13) 30,100 | -0.2 5 @) 42,000 0.1 — 18 (17) 33,400 | -0.2
&A™ 4 4 30,800 | -0.9 2 (2 44,400 | -1.7 — 6 (6) 35,300 | -1.1
RET™H 14 (14) 20,300 | -0.9 8 (8 44,300 | -1.0 1 () 11, 800 0.0 23 (23) 28,300 | -0.9
iREATH 4 4 37,000 | -0.6 2 (2 46,600 | -0.9 1T M 22,300 0.0 7 (D 37,600 | -0.6
AR 5 (5) 30,100 | -0.6 2 (2 43,700 | -0.8 — 7 34,000 | -0.6
INGETH 3 (2 19, 300 0.0 2 (2 25,100 | -0.8 — 5 @) 21,600 | -0.4
FAH 6 (6) 12,600 | -1.2 3 ¥ 32,200 | -1.6 — 9 (9 19,100 | -1.3
En 4 4R 3 ) 18,500 | -1.3 3 ¥ 27,800 | -1.9 — 6 (6) 23,200 | -1.6
e 7 23,600 | -0.7 2 (2 36,200 | -0.3 — 9 (9 26,400 | -0.6
KETTH 6 (6) 10,200 | -1.2 1 ) 20,100 | -2.4 — 7 11,600 [ -1.4
A 4 4 14,700 | -1.4 1 () 24,700 | -1.6 — 5 (5 16,700 [ -1.4
Z8Hmh 5 (5 18,400 | -0.9 1 ) 55,400 | -1.8 1 () 25,400 | -0.4 7 24,700 | -1.0
BRM 7 37,400 0.7 5 (9 52,300 0.0 1 () 30, 000 1.0 13 (13) | 42,600 0.4
fEAT 12 (12) 23,200 | -0.2 6 (6) 33,400 | -0.1 — 18 (18) 26,600 | -0.2
Feith 6 (6) 28,500 | -0.4 3 ¥ 36,100 | -1.2 1 () 18, 400 1.7 10 (10) 29,700 | -0.4
R 3 () 18,500 | -1.4 1 ) 34,000 | -0.9 1 () 12, 400 0.8 5 (%) 20,400 | -0.8
ZEHH 10 (10) 26, 100 0.4 4 (4 42,800 0.0 — 14 (14) 30, 900 0.3
INEET 1 20,500 | -1.0 1 ) 22,900 | -1.7 — 2 (2 21,700 | -1.4
I E#t 1T ) 9,300 | -0.7 — — 1) 9,300 | -0.7
[Fags e 1 ) 8,600 | -1.5 — — 1 ) 8,600 | -1.5
FHEARF 1T 3,400 | -2.9 — — 1 3,400 | -2.9
ELHEARF 1 ) 3,000 | -2.9 — — 1 ) 3,000 | -2.9
& AFEHET 2 (2 17,400 | -0.6 1 ) 23,100 | -0.9 — 3 () 19,300 | -0.7
B HIRET 6 (6) 65, 800 9.3 3 (3) | 184,300 5.3 — 9 (9 [105,300 7.9
fEn4X EHET 2 (2 20, 500 2.0 1 ) 21,700 0.0 1 () 13, 800 0.0 4 4 19,100 1.0
37 FLET 2 (2 11,100 | -0.9 1 ) 14,900 | -0.7 — 3 () 12,300 | -0.8
FARHM 1 ) 15,500 | -0.6 — — 1 ) 15,500 | -0.6
KANET 2 (2 9,100 | -1.9 1 ) 14,400 | -2.0 — 3 () 10,900 | -1.9
TERERET 3 ) 41,800 | -1.3 1 ) 43,300 | -2.0 — 4 (4) 42,200 | -1.5
ELTRHE 3 ) 14,000 | -1.1 1 ) 28,900 | -1.4 — 4 4 17,700 | -1.2
[+t 1T 15, 000 0.7 — — 1 15, 000 0.7
REFHET 3 ) 15,100 | -2.0 1 ) 22,300 | -2.6 — 4 4 16,900 | -2.1
HomHET 3 () 19,900 | -1.8 2 (2 25,800 | -2.3 — 5 (9 22,300 | -2.0
B 8T 2 2 11,400 | -1.3 1 ) 13,300 | -1.5 — 3 ) 12,000 | -1.3
FH T 1 ) 19, 600 0.0 1 ) 21,400 | -1.8 — 2 (2 20,500 | -0.9
=aJ 1P S) 1 3,500 | -2.0 — — 1 3,500 [ -2.0
= | 1 ) 15,900 | -1.2 1 ) 24,700 | -2.0 — 2 (2 20,300 | -1.6
I ET 2 (2 12,000 | -1.2 1 ) 20,000 | -2.4 — 3 ) 14,600 | -1.6
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= #ET 2 2 15,000 | -1.3 1 20,100 | -2.0 — 3 @) 16,700 | -1.5
] = BT 2 (2 3,100 | -1.6 1 ) 4,100 | -2.2 — 3 ) 3,400 | -1.8
(S ESE ) 4 (4 5,000 | -1.3 1 () 16,800 | -1.2 — 5 (5 7,400 [ -1.3
EAH T M 2,600 | -2.3 — — 1 2,600 | -2.3
RPF 1T M 4,300 | -2.3 — — 1T M 4,300 | -2.3
TRt 1T M 5,100 | -1.9 — — 1 ) 5,100 | -1.9
SEARF 1 () 2,900 | -2.0 — — 1 ) 2,900 | -2.0
KEEM 1T M 4,400 | -2.2 — — 1 ) 4,400 | -2.2
RER 1T M 1,900 [ -2.1 — — 1 1,900 | -2.1
BARHM 1T M 12,600 | -0.8 1) 17,600 | -1.1 — 2 (2 15,100 [ -1.0
=g+ 1 ) 12,800 | -1.5 1 15,800 | -1.9 — 2 (2 14,300 | -1.7
KEFt 1T M 1,900 | -2.1 — — 1) 1,900 | -2.1
L HAET 1 ) 12,900 | -3.0 — — 1 ) 12,900 [ -3.0
FEAREHET 3 ) 7,000 | -2.1 1 13,600 | -2.9 — 4 4 8,600 | -2.3
AREF 1T M 10,600 | -1.9 1T M 12,200 | -2.4 — 2 (2 11,400 | -2.2
FiEF 1T M 5,600 | -2.6 — — 1 ) 5,600 | -2.6
REF 1T 6,700 | -2.6 — — 1 (1 6,700 | -2.6
AEH 6 (6) 10,500 | -3.1 1) 28,000 | -3.4 — 7 13,000 [ -3.1
FRIERT 1T M 9,800 | -2.0 1 ) 16,200 | -1.8 — 2 (2 13,000 | -1.9
AR A 1 ) 6,500 | -0.9 — — 1 ) 6,500 [ -0.9
i 5] 2 (2 21, 400 0.6 — — 2 (2 21, 400 0.6
BHEMN T M 14, 000 0.0 — — 1 14,000 0.0
AL &t 3 (2 7,600 [ -1.5 — — 3 (2 7,600 | -1.5
s EET 2 (2 10,900 | -0.1 — — 2 (2 10,900 | -0.1
NIIESE 1T M 13, 300 2.3 1T M 19,600 | -0.5 — 2 (2 16, 500 0.9
BE+t 3 ) 7,500 2.0 2 (2 29,900 | 15.0 — 5 (5 16, 400 1.2
INSFY 2 (2 7,200 | -0.9 — — 2 (2 7,200 | -0.9
I 3 BT 3 3 21,100 | -1.5 1) 26,400 | -2.2 — 4 4 22,500 | -1.7
INF HEET 3 ) 34,100 0.7 1 44, 400 0.2 — 4 4 36, 700 0.6
= WA 1T M 18,700 | -1.6 — — 1T () 18,700 | -1.6
i/ NHET 2 @ 16,200 | -3.6 1 27,100 | -1.5 — 3 @) 19,800 | -2.9
RAEFEFR T M 4,800 | -1.7 — — 1 4,800 | -1.7
FIRARF 1 (0 18, 500 —_ 1 ) 26, 700 8.5 — 2 M 22,600 8.5
{EiRET 2 (2 9,600 | -2.0 1 ) 15,100 | -3.2 — 3 () 11,500 | -2.4
INF 1T M 7,600 [ -1.8 1T M 9,200 | -2.8 — 2 (2 8,400 | -2.3
B 445 BT 2 (2 8,200 | -1.6 1 ) 15,800 | -2.5 — 3 ) 10,800 | -1.9
xE#7t 1T M 3,300 | -2.9 — — 1 3,300 [ -2.9

EFR 275 (272) | 25,100 | -0.5 | 111 (110) | 52,500 | -0.4 11 (1) 21,900 0.9 ] 397 (393)| 32,700 | -0.4

1 BEMBIRD () [, REREMSRERT,
2 T—1 &, BEMAFELLGVWIEERT,




